SUN	No. – site bills				Date	- site bil	lls			
register		24	2410.		Register			19/10/23.		
Company Name: MRMLLP				Site:			G.M.F.			
Nam	ne of Contractor		si Cha	Nd.						
Natu	ire of work	-	s we							
Wor	k done	From D	ate	26	09	22 To	Date	16/1	0/23.	
Sl. No.	Villa/Flat/block no	. Qty	•	Rate		Units	Amou	int	Contractors bill no	
١.	C-504 Alat	-(68%)	1128	S	FT	16	18	3048		
2.		(21%)	348		FT	16	د	- 568		
3.	weste. 1660		1128		fT	4	L	1512		
4.	•		348		FT	Ч		397		
5.	Babbroom	l	100	80	FT	18	-	1200		
6.	Ceranic		93	8	F2	18		1674		
7.										
8.									) -	
9.									1	
10.								)		
11.		otal:	-				3	8,394		
	required	YES	NO.		(57)	h, '-'C.I	$11 \text{ cm}^3$	115	<b>`</b> ,	
	surement &	Requi				ucuci		Les P	8	
	VO no.	Notre	ajuncal			iate sheet VO date:		<u>. Note</u>	$\{\xi_{i},t\} \in \mathbb{R}^{d}$	
Rema	arks : A	11	XXX	4	one	A				
		The Barrier State and Barrier States in the States	and the second							
									NUM POLY ANTICIDE IN THE PLAN.	
					an an ann an Common Spo				and the second sec	
Appro	oved by Project Ma		Appro	oved b	y Des	ign Team	n Ap	proved b	y M.D.	
Date:	, KI1017	my	Date:					Date		
Sign:			Sign				· · · · · · · · · · · · · · · · · · ·	s es		
Votec			÷							

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice thust be sent within 5 for a construction of a start of the form of

.

ESTIMATE SHEE	T						
Company Name:	MRMLLP				Арр		Narander Reddy
Project:	Gulmohar Res					Sign:	
Work Description:	4' X 2' flooring	tiles and bathroom tiles layin	g in C-504				
Contractor Name:	Ravi Chand						
Prepared By	Srinivas.N						
Date:	19.10.23						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	4' x 2' tiles	SBUA 1660sft (68%)	1128.00	Sft	16.00	18,048	
2		Skirting 21%	348.00	rft	16.00	5,568	
		SBUA 1660sft (68%)	1128.00	Sft	4.00	4,512	
		Skirting 21%	348.00	rft	4.00	1,392	
3	Bathrooms	(200sft per toilet)	400.00	Sft	18.00	7,200	
4	Ceramic	(93sft per flat )	93.00	Sft	18.00	1,674	
						38,394	

MEASUREMENT S	MRMLLP					Approved by:	Narander Reddy		
Company Name:	Gulmohar Residency					Sign:	ander Reduy		
Project:						olgn.			
Work Description:		athroom tiles laying in C-504							
Contractor Name:	Ravi Chand								
Prepared By	Srinivas.N								
Date:	19.10.23								
			Α	В	С	D	E= AxBxCxD	F	
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	
3 110.	C- 504	4' x 2' tiles	0					sft	
	0 301	SBUA 1660sft (68%)	1128.00	1.00	1.00	1.00	1128	sft	
		Skirting 21%	348.00	1.00	1.00	1.00	348	Rft	
	1. sthrooms	(200sft per toilet)	200.00	1.00	1.00	2.00	400	sft	
	bathrooms	(93sft per flat )	93.00	1.00	1.00	) 1.00	93	sft	
	Kitchen & utility	(93sh per hat)	75.00						

## Allowance for Consumables

Ravi chand, Mallapur.

Date: 19.10.23

In favor of: Project / Site: Location:	MRMLLP Gulmohar Residency Mallapur Tiles work
Type of Work: Towards:	Allowance for Consumables.

licis

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in C -	
	506 flats at C - block.	Rs. 7678/-
	Total Amount = 38394/-	
	Work done from date 26.09.23 to date 16.10.23	

Amount in words: Seven Thousand Six Hundred Seventy Eight Rupees Only.

Sign: 67011301 92113

## **Bill for Equipment Allowance**

Ravi chand, Mallapur.

Date: 19.10.23

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in C -	Amount
	506 flats at C - block .	D = 15257 /
	Total Amount = $38394/-$	Rs.15357 /-
	Work done from date 26.09.23 to date 16.10.23	

Amount in words: Fifteen Thousand Three Hundred and Fifty Seven Rupees Only.

Sign: Levolison 4415

Bill for Labour Charges

Ravi chand, Mallapur.

Date: 19.10.23

rus

Company Nat

aptractor

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

1

Description	Amount
Brief description of work done: Tiles laying work in C	Amount
506 flats at C - block.	Rs.15357 /-
Total Amount = $38394/-$	KS.155577-
	Brief description of work done: Tiles laying work in C - 506 flats at C - block .

Amount in words: Fifteen Thousand Three Hundred and Fifty Seven Rupees Only.

Sign: 67213219213